= A
N = 0] &F AF S & AN A
20148 = 20 A LBt H nEsA D
A REWEDY
HM: TADNE B4 (+sLDE/W=SNE - S FSIIE
HR: 2SS EAMGEXR (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
nEdHA 54,998,370 51,281,046 3,717,324
= 150,000
= 223,414
= 987,416
Al 53,637,540
CADNE 83 (s Y WS/ HEVE - SFEI|EH 52,416,976 49,028,527 3,388,449
= 150,000
o=t 223,414
= 987,416
Al 51,056, 146
2 S ENSH2AY AR 52,316,656 48,948,707 3,367,949
= 150,000
== 186,664
= 987,416
Al 50,992,576
HIAILCHEABAMI(EX) 200, 164 192,419 7,745
= 141,664
= 48,645
Al 9,855
301 LBt A= 200, 164 192,419 7,745
o 141,664
= 48,645
Al 9,855
11 JIEtE A2 200, 164 192,419 7,745
OEIles =ABAZ(0Y) 200,164,000 200, 164
&< 141,664
= 48,645
Al 9,855
S == 43,000,000 40,000,000 3,000,000
307 gizto| A 43,000,000 40,000,000 3,000,000
09 2LHHEXZ 43,000,000 40,000,000 3,000,000
O[F MU (=SHA) Clate BEX AIHESUSX
82X 43,000,000,000& 43,000,000
HAZESIAFS 658,580 822,403 A 163,823
201 LBt 329,800 330,387 AN 587
01 AP 22| H| 9,000 9,000 0
O1.det=2H| 9,000
“MI|HE A =42 50,000& 180K 2~ 9,000
02 2224 H| 320,800 321,387 A\ 587
O1.2Z222<HAl 136,800
- HAREBAIAE 2223 136,800
HE2A QU EA AIEE
25,000 & x20000 A~ x12& 60,000
dE 8248 L ARSSIE AtE2
1,200,000& x12& 14,400




2A NS
M SANS 243 (+SLUE/HEUE - SFSIIEH)
S oA - SFSASUH2AE IR (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
T 2% 22D COMAR 3
10,000& 20000 12& 24,000
T BIT HJIe= 16,0003 *20001 A+ 123 38,400
O3. A& ZHl s Xt 184,000
“SHAEEANAE RANES 184,000, 000& 184,000
401 AIEHI L 2CHYI 328,780 402,016 AT3,236
01 A& HI 327,600 400,000 AT2,400
OHAEEANAY 25 327,600
AU ME Y AX
6,500, 000& =40CH 260,000
-2d A S0 ME Y &X
2,000,000& =30CH 60,000
-gHAlL 2ol A FOY0IE 7,600
el 20,000 »200CH 4,000
© N 360,000 = 10CH 3,600
03 A& =2 I 1,180 2,016 A 836
OHAZEAAE 2= ALE20UYI
327,600,000 *0.72/100%50%<& 2> 1,180
HEsnsMHEXK 5,336,300 5,335,880 420
203 R =&t 27,000 27,000 0
03 A BF=XH S =ZH| 27,000 27,000 0
ONSAHUY A2 XY
30,000,000& *x90%<& 2> 27,000
301 et d s 9,300 8,880 420
09 HALAHIEA S 2,100 1,680 420
O3z SAITAL AIQIEH 2T AH 24
30,0003 x2H +x7U *43] 1,680
OUsnseds slAFAT 4
7,000 *30Y *23] 420
NIJEEd=s 7,200 7,200 0
OStEI| AIUHA 2HEINXSE Ra425 24
= 120,000& = 1CH 60 7,200
307 glz2tol & 5,300,000 5,300,000 0
09 2HAHAEXS 5,300,000 5,300,000 0
OAlUH A &2 43 5,300,000, 000& 5,300,000
AU 2 SHEHASSAY WEX(BEX) 1,877,542 1,622,502 255,040
& 938,771
Al 938,771
307 21201 A 1,877,542 1,622,502 255,040
& 938,771
Al 938,771
09 2+=HAHEBEXS 1,877,542 1,622,502 255,040




2A NS
M SANS 243 (+SLUE/HEUE - SFSIIEH)
el O HENSKHESA EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAMU &L sHEHASESAMY HEXHA(01Y)
1,877,542,000& 1,877,542
& 938,771
Al 938,771
NEATNEAS HaAHA 2L (BX) 300,000 99,200 200,800
= 150,000
< 45,000
Al 105,000
402 RIZ2EX20l M 300,000 99,200 200,800
= 150,000
< 45,000
Al 105,000
01 RIZEAt2E X 300,000 99,200 200,800
OnsSAXE At MaHA LN
100,000,000& =3CH 300,000
= 150,000
< 45,000
Al 105,000
EHAIE 23 ALY 817,670 286,703 530,967
301 et d = 567,434 256,652 310,782
NJEEd=s 567,434 256,652 310,782
OH"YAIIIE =& 5,500% *2,854CH«12& 188,364
OHESEA S8 12,1003 +1,37101 123 199,070
OESAZXZ & (HOIEAl) 27,000,000 =4 CH 108,000
OEANEES} 52 10,000& +600CH 122 72,000
402 RI2EXt20| ™ 250,236 30,051 220,185
01 2I2tR2E X 250,236 30,051 220,185
OEAl JIEZ M ESZI] &XH K&
270,000& *1,324CH*70/100 250,236
SEZ2us+==H0lE8 126,400 0 126,400
307 21201 A 126,400 0 126,400
05 RIZt2IEt = 126,400 0 126,400
OSEUSSH (T SHA) 2 A
31,600, 000 *4CH 126,400
SIS M 100,320 79,820 20,500
< 36,750
Al 63,570
S 43 26,820 6,320 20,500
201 LBt 23,940 5,240 18,700
01 At 22l 23,940 5,240 18,700
O1.det=EHl 17,700
-XNSEIA Q2HEX 2RI EEE M
3,000& *500F +22] *90%< & 2> 2,700
“XNASSAEE BXNAEX 2F 2310 15,000




SA: REWED
H: CTAWNE 43 (Y NE/HENE - 2FSIIE
Sl HTDSAY CERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
= 2Kl 3,000,000& 30 At 9,000
PNREON 2,000, 000& *3IH At 6,000
O3.2gx<¢ 4,560
-XEatsAt &8 NEARE OHE 4,560
SO FN 70,000 x6H x4 3] 1,680
° 0dbl 60,0003 *6H 2 x4 3| 2,880
05.3 4| 1,680
NASBA B8 FF OFA22X 24
7,000& x2H 10 x 12& 1,680
202 044 2,880 1,080 1,800
01 2L Y| 2,880 1,080 1,800
QUINRIES(EUEM, MM S)H2x=A
(0:0s]] 60,000& *x2H 32 x83| 2,880
SN (EX) 73,500 73,500 0
< 36,750
Al 36,750
307 QI2t01 ™ 73,500 73,500 0
< 36,750
Al 36,750
09 2+HNEES 73,500 73,500 0
OB A (YdH) Z&X 2 73,500,000 73,500
= 36,750
Al 36,750
HESHAAL (LSHZ ) (IIEH/DIE) 22,008 20,720 1,288
olHESHH (NS A ) 22,008 20,720 1,288
FAMeES2HH| 22,008 20,720 1,288
101 2121 4| 22,008 20,720 1,288
03 RINHAZ22XNHE %= 22,008 20,720 1,288
OstEksit RIBEEXZ 22| 22,008
A= 38,880 x1&H x313Y 12,170
-3 12,170,000 1 x1/12%300% 3,043
===l sl 12,170,000 x1H x1/12%120% 1,217
-5 38,8803 1Y »52! 2,022
-AX = 38,8803 x 1«17 661
-HHZAH| 80,000& »1H x12& 960
-IEsY 80,000& x1H ~12& 960
-2 EIHA =2 38,880 x1H %22 x 128 *50% 467
-g3=24 12,170,000 1 %1/ 12%x25%*2 3] 508
WEES(REHIN)(+5LDS/HERS - ERSIIE) 2,559,386 2,231,799 327,587
LHEAHH K= 2,559,386 2,231,799 327,587
IJESIHAEEZ2 2,360,000 2,000,000 360,000




SN RSB
WEEET

g 25 (usddn)(>sLUE/HEUE - SFSIIHY)
el WRAHAHXS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
701 JIEISI HEES 2,360,000 2,000,000 360,000
01 JIEt3I HE &= 2,360,000 2,000,000 360,000
OEMNDNSANEELESN 8523
2,360,000,000& 2,360,000
ANg2e 3¢ BE2(SIALE) 199,386 231,799 A 32,413
309 MEZ 185,386 223,299 A37,913
02 SAt- SHINTES 185,386 223,299 A37,913
OAMEZeSH SXNALE JAAES 185,386
-HegolnsdHE 185,386,000 185,386
404 SIOIgH2HE= 14,000 8,500 5,500
02 SAt- BHT=2dE= 14,000 8,500 5,500
OAMEZelsH SXNALE IH2AES 14,000
-HegolnsdHE 14,000, 000& 14,000




